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2= F % ik | W | (ke) CEM) [ mm | pE gE | EH (D
30100 7ZWVWZ A 5 108 22 22 22| BN 5
T Y3006 =2 (AEFT) 9 3,235 378 378 238 | &N 9kg
31700 F ¥ XY 110 7,236 1,080 540 540 | B 114 — A
31800 XHNAK 22 8,926 86 86 70 BN 1083
31950 H#AE 5 1,242 86 86 76| BN 153
31900 ¥ 13 3,316 270 270 238 | B 13kg
36800 Do X k9 36 15,714 486 432 432 | BN 36kg
34400 k< b 28 9,115 356 356 281 | B 28kg
34270 Ry F—= , 20 5, 886 70 54 54 BN 1004
35303 RFyTEZIAED 297 378 54 54 | BN * 4kg
Y3026 Afy7 EZX AL D () 540 270 270 270 | B 2kg
35400 ZHED 410 54 54 54| BN 8kg
36260 (= Lwpi=h» 50 6, 480 1,296 1, 296 1,296 | &M B —
36600 7-Eh¥ 30 1,296 54 38 38| B 30kg
33410 Y=—1LF R 4 432 22 22 22 | BH 2018
Y3018 73 51 8,273 173 162 151 | /™ 513K
34800 133< 5 4 4, 752 119 119 119 | B 40% v b
30910 TF 4 via 1 351 70 70 70| B 54%
43900 U'b 8 8,100 324 324 324 | B 25/% 7
46108 | XMIODER 18 18, 533 356 356 194 | BH 60,3y 7
21011 RS L —% 13,813 32 27 22 | B 53074
53456 7= 7l 454 108 108 108 | B 4kg
1Y5010 obsE (&) 940 540 540 238 | BN 2kg
130100 7SV Z A 50 1, 620 324 324 324 |BEIRE 54%
30300 A& 24 5, 832 108 108 76 | B I 6048
30300 A% L 50 16, 200 3, 240 3, 240 3, 240 | R I& 54— A
30300 | AZ L 60 12,312 2,160 2,160 1,944 | EIRE 64— A
30400 TS L 10| 1,296 1,296 1,296 1, 296 | K ¥k 17—
31100 A% M 135 3, 888 432 432 432 | BBIE R 94— A
31200 (LK 4 1,728 86 86 86 | EE & 2048
33500 T F3E L 2 467 27 27 12 | %& 2448
133810  HHE 4 2, 160 2,160 2, 160 2,160 | K& R & 17— A
33810 HHEFE 4 1, 296 65 65 65 | B & 2048
37440 b 2 896 896 896 896 | £ 17 —2
Y3072 RE—Y—7 3 1, 296 43 43 43 |BEAR 304%
31700 F X 10 324 324 324 324 BEIRE 17r—2
31800 1139 LA 4 1,026 54 54 54 | BIRE 1948
31900 ¥ M. 5 1,026 216 54 54 BERE 103 (500g)
31930 Zh¥ 9 1,296 22 11 11 #ER 9048
32800 125 10 2,700 43 22 22 | B I 1003
34300 72 % 20 6, 156 1, 566 1, 566 1,512 HEA 4r—2
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24 & RIEMrE &H
a— R g Eik | PR (kg) %8 () =il o Nl i (EAL)
34300 73 6 2,808 140 140 140 | =W 204%
34400 k=< b 20 6, 588 1, 404 1, 404 1, 188 | AEA 54— A
34400 k= b 28 6, 480 1,188 810 810 | IR & T —2
34400 k< k M 12 5, 184 1,728 1,728 1,728 R B 3 —
34460 I =Lk F L M 5 2,074 108 65 65 | 24,8 7
34100 K 59 9, 396 130 108 108 | = Ik 814§
34100 #A/K 20 5,292|  1,458| 1,458 1,188 fEIRJS AT —2
34100 #AI L 15 3, 564 1,188 1,188 1,188 |EIR B 3 —2R
34100 &K B 20 2, 052 540 540 486 \EEJLER - 48R
34200 FE/L 30 5, 508 1,836 1,836 1,836 | = a—— $H—2
SUK ,
34500 B —< 14 4,385 65 59 59 |'E I 7148
34520 FRE—< B L 2 1,512 1,512 1,512 1,512 EIRE 17—
34571 237V F(GR) 2 1,188 108 108 108 |85 [E 114#
© 34572 7Y B () 2 1,598 151 151 119 |88 E 111#
33400 L& R 6 1, 404 1, 404 1,404 1,404 | ElF 17 —2
33600 %tV 1 540 108 108 108 | & 548
38100 AL \\M/=iF L 6 4,104 76 65 65 | EIRE 60X 7
31310 HPE 4 864 43 43 43 |BEIR B 2048
31500 /MR 12 3, 564 65 65 43 | 1& [ 6048
32500 AT 1 540 54 54 54 | 18 i 103K
37560 BHIX 1 3,672 378 378 356 | K4y 103y 7
38400 ZDEH 5 1, 620 1,620 1, 620 1, 620 | E I =R
38400 (X DXFE 25 4,644 24 17 17 |2 25048
38521 S LHUEH 6 3,726 92 92 32 | f& 604
41410  LE 15 10,260| 10,260| 10,260  10,260|7 AU H 14 —2R
49100 NFF 192 34, 776 3, 888 1,944 1,944 | 7 4 U BV 16— R
Y3031 AR 100 18, 004 1, 800 1, 800 1,800 | 2B 104%
aat 1, 449 326,315




